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5802-B
M.Com. (F inal) ABST Examination, 2016
SECURITY ANALYSIS & PORTFOLIO
MANAGEN[ENT
Time : Three Hours
Maximum Marks : 100
PART -A (TuE-A ) [Marks 20
Answer all questions (50 words each).
All questions carty equal marks.
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PART - B (Eus-¥)
questions (250 words each).
unit. All questions carry equal marks.
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Answer five
electing one from each

PART -C (wus-H) [Marks : 30

fwo questions (300 words each).

Answer any
All questions caiTy equal marks.
5 A A BT e T ST 300 o s A
it i T TR FHI g1

PT.0.

5802-B/2290




PART - A
(@ug-37)
UNIT - |

(3TE-1)

1. What are non-security

investment ? Give two examples,
ﬁ?—?{ﬁr‘l{ﬁrﬁﬁiﬁmw%“?ﬁmﬂ S

-
2. What are the components of total risk ?
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UNIT - 11

(g@E-11)

3. What do you mean by E-I-C analysis 7

4. Give the formula of the Price-Earning ratio & Earnings per

share ?
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UNIT - I

(gerE-11)

5. What do youmean by earning analysis ?

aﬁqfaﬁw%mwmﬁ%?
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6. Give the formula for valuation of redeemable bond.

(3TE-1v )

7. What are the limitations of charts ?
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8. Explain a1y two assumptions under EMH,

EMH =3 ﬁéﬁwmm%ma;
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UNIT -V

(FFE-V)

394, market return is 20% and risk-free

g, if stock return is 13%

return is 6.50% the beta of security will be.
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10. What is risk-{ree rate of return 7
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PART - B
(@ue-7)
UNIT - I

(3T3-1)

1. What do you mean by investment ? Explain the process of

investment undertaken by an investor. k7

OR

( 3tear)

) %

Mr. Anup invested in equity share of ABS Ltd., Its anticipated

returns and associated probabilities are given below.

5802-B/2290 6




#aﬁq?{ABsW‘s%ﬁmmﬁﬁﬁﬁm%ﬂnmﬁ

mmagﬁmﬁm%:

You are required 0 calculate the expected rate of return and

risk in terms of standard deviation. 4+6

mwﬁﬁmﬂammﬁmm%i

Return .15 -10 5 10 {520 30

Probability  0.05 0.10 0.15 0025 0.30 0.10 0.05

UNIT - I

(gars-11)

3. Whatthe different types of ratios are tO analysis the company's

financial performance.
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OR :
( 3terar)
4, Whaf do you undei-'stand by intrinsic value ? How is it
calculated ? b
m{mﬁmwm%‘wmmﬁﬁmﬁ?
UNIT - II}
(ZohTs-111)
5. Explain, with examples, the various risks associated with
bonds.
o W%Wuﬁﬁ“w%ﬁfaﬁmmmf
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OR

( 3rere)

6. Face value of a debenture = Rs. 10,000

Annual interest rate of debenture = 12%

Maturity period = 5 years

. . : |
What is the value of debenture if

(i)  Required rate of return is 12%

5802-B/2290 9 PTO.




(i) Required rate of return is 15%

(iii)  Required rate of return is 10%

AT =1 3 o - 100 %,

RO I ey 12%
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(ii) s T R 15% B

i) eTifE e < 10% &

UNIT - IV
(swE-1V) %
How rate of change and relative Strength Index can be used
by an investor to predict share price movement ? 5+5
aﬁﬁ%xg@ﬁqﬁaﬁqwaﬁmwﬁ%mqﬁaﬁ?ﬂa
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OR

( 3teram )

8.  What do you mean by efficient market hypothesis ? What are

its various forms ? 3+7

WWW@W@W%?MWWW
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UNIT -V
(3&E-v)
9. What is Sharpe Optimal Portfolio ? How is it constructed ?
4+6
WWWW%?@M%MW%?
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OR
( 3terET )

10. What is portfolio management ? Distinguish between Modern

v/s traditional portfolio theory. 37
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PART - C

(@us-9)

1. What is industry“analysis 2 What are the key characteristics

in industry analysis ? What its relevancs to security analyst ?

44+6+5
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2. Explain what is company analysis in the context of investment
planning. What important factors should be considered in this

analysis ? 7+8

fafarT dem % w=ef F Fo faweivor w0 2 S99
fereeror et Ty et E T TE )

3. What are the various methods used to estimate earning of a

company ? Explain any two methods.
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4. Define technical analysis and fundamental analysis. Which one

do you consider superior ? Why ? 4+4+7

et frveror & g favew ) ufvafa i)

J a7 S Tad AEd 82 7

5. What do you mean by beta factor 2 What does it study ?
Explain the calculation of beta with the help of an example.

4+5+6
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